








~ 158,921+93,0o0

158,921+93,0o0 = 158,921+ 1o0,o00-7,o0o

= 251,921

158,921 + 93,162

~ 251,921158,921 + 93,162

...'tis better to 
write zeros for the 
hundreds, tens, 'n' 

ones digits.

Hmmm...
My estimate 
looks a little 
different. 

Starting 
with 158,921, 
| knew | had 
to add about 

93,000.
So, | 

added 100,000 
and took away 
7,000 to get 

251,921.

Grogg, that 
doesn't look like 

an estimate.

When 
we estimate, 

we usually use 
numbers endin' in 

one or more zeros.

Since you were only 
addin' thousands to 

get the sum...

That way, no 
one will mistake 

your estimate for 
the actual sum.
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